Tehtava 2: Mallivastaukset

Kysymys 2.1
a) Kuplalajittelu

12 627 -4

6 12 27 -4 - 1. vaihto
612-4 27 - 2. vaihto
6-412 27 - 3. vaihto
-4 61227 - 4. vaihto

Eli yhteensa 4 vaihtoa.

a) Vaihtolajittelu

12 6 27 -4

6 1227 -4 - 1. vaihto
-4 1227 6 - 2. vaihto
-4 62712 - 3. vaihto
-4 61227 - 4. vaihto

Eli yhteensa 4 vaihtoa.

b) Kuplalajittelu

-23 143 13 3 32

-23 13143 3 32 - 1. vaihto
-23 13 3143 32 - 2. vaihto
-23 13 3 32143 - 3. vaihto
-23 3 13 32143 - 4. vaihto

Eli yhteensa 4 vaihtoa.

b) Vaihtolajittelu

-23 143 13 3 32

-23 13143 3 32 - 1. vaihto
-23 3 143 13 32 - 2. vaihto
-23 3 13143 32 - 3. vaihto
-23 3 13 32143 - 4. vaihto

Eli yhteensa 4 vaihtoa.

c) Kuplalajittelu

143 45 32 11 -100

45 143 32 11-100 - 1. vaihto
45 32 143 11-100 - 2. vaihto
45 32 11 143 -100 - 3. vaihto



45 32 11-100 143 - 4. vaihto
32 45 11-100 143 - 5. vaihto
32 11 45-100 143 - 6. vaihto
32 11-100 45 143 - 7. vaihto
11 32-100 45 143 - 8. vaihto
11-100 32 45 143 - 9. vaihto
-100 11 32 45 143 - 10. vaihto

Eli yhteensa 10 vaihtoa.

c) Vaihtolajittelu

143 45 32 11 -100

45 143 32 11-100 - 1. vaihto

32 143 45 11-100 - 2. vaihto

11 143 45 32-100 - 3. vaihto
-100 143 45 32 11 - 4. vaihto
-100 45 143 32 11 - 5. vaihto
-100 32 143 45 11 - 6. vaihto
-100 11 143 45 32 - 7. vaihto
-100 11 45 143 32 - 8. vaihto
-100 11 32 143 45 - 9. vaihto
-100 11 32 45 143 - 10. vaihto

Eli yhteensa 10 vaihtoa.

d) Kuplalajittelu
1357911131519 21

Lista on jo valmiiksi jarjestyksessé, eli 0 vaihtoa.

d) Vaihtolajittelu
1357911131519 21

Lista on jo valmiiksi jarjestyksessé, eli 0 vaihtoa.

Kysymys 2.2.1

42 52 87 23
42 52 23 87
42 23 52 87
23 42 52 87

Kysymys 2.2.2

154 143 85 45 32 13 8
143 154 85 45 32 13 8



85 154 143 45 32 13 8
45 154 143 85 32 13 8
32 154 143 85 45 13 8
13 154 143 85 45 32 8
154 143 85 45 32 13
143 154 85 45 32 13
85 154 143 45 32 13
45 154 143 85 32 13
32 154 143 85 45 13
13 154 143 85 45 32
13 143 154 85 45 32
13 85 154 143 45 32
13 45 154 143 85 32
13 32 154 143 85 45
13 32 143 154 85 45
13 32 85 154 143 45
13 32 45 154 143 85
13 32 45 143 154 85
13 32 45 85 154 143
13 32 45 85 143 154

00 0O 00 00 OO 00 00 0 00 0 0 00 0 0 00

Kysymys 2.3.1

lista = [13, 47, 1]
swap(lista, 1, 2)
swap(lista, 0, 1)
print(lista)

Kysymys 2.3.2
lista = [12, -2, 1, 10, 8]

swap(lista, 0, 1)
swap(lista, 1, 2)
swap(lista, 2, 3)
swap(lista, 2, 4)
swap(lista, 3, 4)
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